
qm=;+=             ljj/0f o; jif{sf] ut jif{sf]

s ;+rfng ultljlwaf6 gub k|jfx

! cfos/ kl5sf] gfkmf 3f6f 2,416,630.95             3,575,343.38        

@ x|f; s§L 2,395,879.56             2,345,615.48       

v ;dfof]hg cuf8Lsf] gub k|jfx 4,812,510.51             5,920,958.86      

! rfn" ;DkQLdf -lng'kg]{_j[l4 (1,000.00)                 29,127.00           

@ rfn" ;DkQLdf -k]ZsL cu|Ld _sdL -                         -                   

# rfn" bfloTjdf -w/f}6L_ j[l4 219,500.00              415,770.00         

$ rfn" bfloTjdf -e'QmfgL lbg'kg]{_ sdL (1,706,677.00)            (660,482.64)        

;+rfng ultljlwaf6 gub k|jfx 3,324,333.51             5,705,373.22       

u nufgL ultljlwaf6 gub k|jfx

! l:y/ ;DkQL vl/b ljlqm (2,906,236.00)            (3,874,096.00)     

@ nufgLdf j[l4 sdL -                         -                   

nufgL ultljlwjf6 gub k|jfx (2,906,236.00)           (3,874,096.00)     

3 ljlQo ultljlwaf6 gub k|jfx

! k"FhLut bfloTjdf sdL jf a[l4 2,237,850.00            2,000,000.00      

@ C0fdf j[l4 jf sdL -                         -                   

# ;+:yfut k"FhLut cg'bfgdf sdL jf a[l4 -                         -                   

$ cGo ultljlw ph|ftL vftf -                         -                   

ljlQo ultljlwaf6 gub k|jfx 2,237,850.00           2,000,000.00     

! ;Dk"0f{ ultljlwaf6 ePsf] gub k|jfx 2,655,947.51             3,831,277.22        

@ z"? gub tyf a}+s df}Gbfg 9,370,584.76            5,539,307.54       

clGtd gub tyf a}+s df}Hbft 12,026,532.27           9,370,584.76      

n]vf ;DaGwL lglt tyf l6Kk0fLx? 14

lutf /]UdL                dbg yfkf x]d axfb'/ yfkf afns[i0f u}/]

n]vf ;xfos          k|zf;sLo clWfs[t                         M            SofDk; k|d'v    cWoIf 

    d]3/fh kf08]            /ljg ;'j]bL

       ;+of]hs l;=P= /ljg ;'j]bL P08 P;f]l;P6\;

cfGtl/s n]vf ;ldlt         rf6{8{ PsfpG6]G6\;\

;lxb gf/fo0f kf]v/]n /fdfk'/ SofDk;

;}gfd}gf–^, ?kGb]xL

  cf=j= @)&(÷)*) sf] gub k|jfx ljj/0f 


